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  : (1)           
  (2)           

 

1. (A) (1)       ?        7 

  (2)      ` 10      ` 15         
   ` 8              : 7  

  0 1 2 3 4 

  0.15 0.20 0.35 0.25 0.05 

         ?         
(EVPI)       

    
  (1)    :  7 

   (i) -   
   (ii) -   
   (iii)     
   (iv)     
  (2)       EVPI   :  7  

    
A B C D 

S1 0.25 50 10 60 80 

S2 0.40 0 30 45 40 

S3 0.35 80 35 30 45 
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 (B)         :  4 

  (1)     EMV  800, 860  700 ,  EVPI = 160,  EPPI  
      

  (2)      ` 40    ` 60        ` 10 

           :    

  40 50 60 70 

  0.20 0.25 0.50 0.05 

    50     EMV     
  (3)               25   

 5            19 ,    
          

 

2. (A) (1) (i)     ?     7 

   (ii)           
  (2)              -       

 : 7  

 2005 2006 2007 2008 2009 2010 2011 2012 2013 2014 2015 2016 

  68 76 80 95 108 77 88 95 110 120 99 104 

  
  (1) (i)  :      7 

   (ii)         :   

  
 

    
2015 35 30 20 

2016 50 44 35 

2017 60 55 48 

  (2)          ,      : 7 

  2000 2004 2008 2012 2016 

 
()  35 45 50 65 85 
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 (B)         :  4 

  (1)     -   6.25, –3.58, 7.17  –8.5 ,  
-     

  (2)            
   y = 6.37 + 0.33 (x – 2014) + 0.24 (x – 2014)2 ,  2020      

         
  (3)      109.6, 97.1, x, 99.17 ,  x   

      
 

3. (A) (1) (i)      ?       7 

   (ii)                
  (2)      , , -                     

  :  7  

 
      

      

A 2 40 5 75 

B 4 16 8 40 

C 1 10 2 24 

D 5 25 10 60 

  
  (1) (i)  :         7 

   (ii)          
  (2)          ,       

 :  7 

  
  

2015 2015 2018 

A 8 20 5 

B 12 24 15 

C 12 36 3 

D 18 45 10 
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 (B)         :  3 

  (1)            ?  

  (2) “          175        
       175   ”       ? 

  (3)  -            
  (4) -   176.23     181.36 ,   

       
 

4. (A) (1)  : 7 

   (i)     
   (ii)     
   (iii)    
  (2)      ‘’     p       

 H0 : p = 
2

1
  H1 : p = 

3

2
        10  

     8        H0    
                  
     7 

  
  (1)  :  7 

   (i)       
   (ii)           
  (2)   x        H0 : m = 2  H1 : m = 3  

  ,   x > 2 ,          
          

   (e–2 = 0.1353, e–3 = 0.0498)  7 

 (B)        :  3 

  (1)        
  (2)        
  (3) 5%  1%               

   
  (4)           

____________  
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  : (1)           
  (2)           

 

1. (A) (1)       ?        7 

  (2)      ` 10      ` 15         
   ` 8              : 7  

  0 1 2 3 4 

  0.15 0.20 0.35 0.25 0.05 

         ?         
(EVPI)       

    
  (1)    :  7 

   (i) -   
   (ii) -   
   (iii)     
   (iv)     
  (2)       EVPI   :  7  

    
A B C D 

S1 0.25 50 10 60 80 

S2 0.40 0 30 45 40 

S3 0.35 80 35 30 45 
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 (B)         :  4 

  (1)     EMV  800, 860  700   EVPI = 160,  EPPI  
      

  (2)      ` 40    ` 60        ` 10 

           :    

  40 50 60 70 

  0.20 0.25 0.50 0.05 

    50     EMV     
  (3)               25   

 5            19 ,    
          

 

2. (A) (1)   : 7 

   (i)     
   (ii)     
   (iii)    
  (2) 900          3.4       

  3.25    2.61         
  ,      ? ( | Zt | = 1.96) 7 

                
  (1)  :  7 

   (i)       
   (ii)             
  (2) 500  1000          :  66.5"  

67.5"         2.5"        
   ?  

   ( | Zt | = 1.96) 7 

 (B)         :  4 

  (1)     0.58 ,            
  (2)     1000    560    “    

   ”     S.E.(p)     
  (3) 5%  1%               

  
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3. (A) (1) (i)          7 

   (ii)         

  (2)             :  7 

     B  

    A 



















41005

9350

61549

4715

A

A

A

A

BBBB

4

3

2

4321

1

 

  

  (1) (i)           7 

   (ii)              

  (2)              7 

     B  

    A 























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2202
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A

A

A

A

BBBB

4

3

2

4321

1

 

 (B)         :  3 

  (1)       ?  

  (2)       ?  

  (3) “          ”       ?  

  (4)               ? 

 

4. (A) (1) (i)  :  ,  ,  ,   7 

   (ii)  A = 







 510

132
  B = 











310

621
  

     3A – 4B     
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  (2)   A = 







53

21
     

   A (adj A) = (adj A) A = | A | I.  7 

                       

  (1) (i)        7 

   (ii)  A = 

















 754

321

432

  B = 


















124

316

312

     

     (A + B)T = BT + AT.  

  (2)          : 7 

   x – y = 3,   2x + 3y + 4z = 17,   y + 2z = 7.  

 

 (B)         :  3 

  (1) A = 







111

49
  (adjoint)     

  (2)  A = 



















052

541

210

  -4          

  (3)  “A  B     ,  AB = BA     ”   
    ?  

  (4)  A = [ 4   –5]  B = 







7

6
 ,  AB       

____________ 

 

 


